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Part I: Going from factored form to standard form: Fa n/

1. (x+3)(x—-9)=0 2. (2x-D(x+4)=0 3. (x-2)(2x+7)=0
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Part II: Going from factored form to the solutions (x-intercepts):

4. (x+5((x-11)=0 5. (4x-12)(x-6)=0 6. 4x(x-2)(x+10)=0
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Part III: Goin::;:%gn“standard form to factored form:

7. x2+5x+gg0 . X2+9x-22=0 . xX*—-6x=-8
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Part IV: Going from standard form to factored form to the solutions:

10. x*-7x-30=0 11, x*+14=9x 12. x¥*+x=20
(x'\o\(xct%\ 20 x*-9x+14 =0 x> +X-20%0
(x-'l)(x-z\ =0 (x+5)x-4)=O
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